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=e*.¢e"
=e*-(cosy+isiny)
=e*cosy+ie*siny.
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W"=2.

Z =r(cos@+isind)
W = p(cos@ +isinfd)

p"(cosnd +isinnd) =r(cosd +isin )

p =r—>p=r"

né=60+2kr=argZ

_0+2kzr argZ
n n

@

A :Q/F(cosg+

n

2k

+isin
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Sl S (2) 2 sUhnall dageall LS (Say L)

W = Q/F(cosg+ isingj(cos%—”+ isin2k—”). (3)
n

n n n
Example 1. Find z°=1.
Sol. (3) 5! (2) & darall aladiu) (Saa

Wnk :Q/F(Cose+ 2k Lisin 0+ 2k7rj

n n
k=0,12,..n-1
N =aiall =]l el de 4 yall (s sall 5) ) saall 2o
0 = saiadl 222l 4y )
r=1Z|.
r=1,n=3,k=0,1,2, 6=0.
When k =0

WO = E/i(cos—OJr 23(0)7[ +isin 207 2:)’(0)”)

3

=c0s0+isin0=1.

Whenk =1

W = cos 0+2(W)7 .. 0+2()7
:cosz?”+isinz—”:cos@+isin?:003120+isin120:?+?i

When k =2
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W2 = cos 0 27 .. 0+2(Q)x

:cos4—”+isin4—”:?+?i
3 3

Jasd i () 2 UaS W ey 138 Z =1 J ) s3ad) 2 Ladie 2daaDl

W —cos&+|5m2k—7Z
n n

T sl Ladie (gadall aall ) gda HAagl (5 518 e oDle ) (3N (50
(2) & slanall oy sl e Yy (3) Aabaa A ) 8N (Gaadad Jead) (e 431 (g

1
Example 2. Solve (1+i)2.

Sol. W :Q/F(cosg+ ising)(cos%—ﬂ+ |S|n2k—ﬂj
n n n n

Z =1+i r=v12+12 =2, 9:%, n=2 k=0,1.
When k=0

W, =3 \/E(cos#+ isin %Mj(cos Z(Z)ﬂ +isin 2(2)”]

1 1/2
=| 22 (cos£+isin£)(cosO+isin0)
8 8
:24(cos§+|sm j(l) \/_(cos@Hsm%j 2+ 7?1

Whenk =1
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W =42 cosZ +isinZ cos@Hsin@
? 8 8 2 2

—

cos;z+isin7z)

:i‘/ﬁ(cos£+ isinz
8 8

= é/f(cos%+ isin% (-1) =?7-2i.

1

H.W. Solve (1-i)3.
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